
Task 1 

• The shape with right angles goes in the middle. 
• The trapezoid is not second. 
• The shape with all acute angles is not to the left of 

the large rhombus, they are not adjacent. 
• The hexagon is between the third and fifth shape. 
• Which shape is not in the grid?  

 

 
 
 
 
 
 
 
 
 

    

 

 

 

  



Task 2 

• The shape with the greatest number of angles is 
not first, last or in the center. 

• Neither of the rhombi are in the first two spaces. 
• The large rhombus is directly to the left of the 

small rhombus. 
• The triangle is one shape away and to the left of 

the trapezoid. 
• Which shape is not in the grid?  
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